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1. Factor the trinomial.

2 =7r+ 10

Select the correct choice below and, if necessary, fill in the answer box within your choice.

¥ A The answer is (r—5)(r—2) . (Factor completely.)

The trinomial is not factorable.

2. Factor.

s2—4s—21

Select the correct choice below and, if necessary, fill in the answer box within your choice.

¥ 2. The answer is (s—7)(s+3) . (Factor completely.)

The trinomial is not factorable.

3. Factor using the ac-method.

12y +9y* - 21

Select the correct choice below, and fill in the answer box, if necessary.

v 12y +9y%2 =21 = 3(y—1)(3y+7) (Factor completely.)

The given trinomial is prime.
4. Factor.

b2 —12b+36

Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

VA p2-12b+36= (b—6)(b—6) (Factor completely.)

The polynomial is prime.
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3. Factor completely.

5¢*—405

Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

y 5¢*—405= 5(c?+9)(c—3)(c+3) (Factor completely.)

The binomial is not factorable.

6. Factor.

25+ 20a+4a’

Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

VA 254202+ 4a% = (2a+5)(2a+5) (Factor completely.)

The trinomial is not factorable.
7. Find the GCF of the following terms.
13x*, x?
The GCF is x° . (Simplify your answer.)

8. Factor.

252¢ — 462¢2 + 196¢

Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

VA 25063 — 462¢2 + 196¢ = l4¢(6¢—7) (3¢ —2) (Factor completely.)

The trinomial is not factorable.
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10.

L1

12.

13.

Factor the trinomial.

r2 = 7rf = 30f°

Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

¥ A The answer is (r—10f) (r + 3f) .(Factor completely.)

The trinomial is not factorable.

Factor completely.

100c? —80c + 16

Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

VA 100c? — 80c + 16= 4(5c—2)(5¢—2) (Factor completely.)
The trinomial is not factorable.
Factor by grouping.
x® +7x% - 8x — 56
x> +7x?—8x—56= (x*—8)(x+7)
Factor.

9b%—10b+1

Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

VA 9h2— 10b+1= (9b—1)(b—1) (Factor completely.)

The trinomial is not factorable.

Factor by grouping.

x> +2x>+8x +16

x> +2x? +8x +16= (x> +8)(x+2)
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14. Factor. Choose the correct factored form.
6 6
343c7—8d (762~ 2d2) (49¢? - 14¢%d? + 4d?)
(7¢ —2d%) (49¢? — 14¢%d? + 4d?)

(49¢* +4d?) (49¢? — 14cd* + 4d?)
v
(7¢* —2d%) (49¢* + 14c*d” + 4d*)

15. Factor. Check by multiplying.

6x” +6x°—18x> +18x*

6x’ +6x°—18x° +18x* = 6x*(x* +x? - 3x+3)
16. Factor. Check by multiplying.

x2—4x

The factorization is x(x —4) .
17. Factor by grouping.

151> = 19r— 10

Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

YA 152 = 19r— 10= (5r+2)(3r—5) (Factor completely.)

The trinomial is not factorable.
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18. Factor completely by grouping.

15u’ + 63u” — 60u

Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

¥~ The correct factorization is 15u® + 63u? — 60u = 3u(5u—4)(u+5).
(Simplify your answer. Factor completely.)

The trinomial is not factorable.

19. Factor completely. Select the correct choice below and fill in
the answer box within your choice if
6r- =216 necessary.

VA 6r2=216= 6(r—6)(r+ 6)

The binomial is not factorable.

20. Factor completely.

1-b°
Choose the correct factorization.
(1+bH)(1+bH)(1-b?)
(1+b%)(1-b%
VO (1+bY)(1+b2)(1+b)(1-b)
Not factorable

21. Factor the trinomial.

vi-2vZi—15y

Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

VA 3 —ovio1sv= v(v—5)(v+3) (Factor completely.)

The trinomial is not factorable.
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22. Factor completely.

81s%—49

Select the correct choice below and, if necessary, fill in the answer box within your choice.

¥ The answer is (9s—17)(9s +7) . (Factor completely.)

The binomial is not factorable.
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